BFEﬁZ E'Zﬁ(‘]) BFEIE]1

HAMIRIER S=1 : 2000 AR IER

L= 1327m L= 26m
) g X

I -

I I+

TH) o mh

ot ot ot

el e ey

o =

X1 £/MEE W=49. 5m % ?;% %

& & &

S S

///

=7 /

- - R 258
IR S ET | HA 7 R K ET =/MES W=12. 5m

XfE1 &KiES W=65.5m

£ E smesE HAMK
Rl Banss BE A R

{4 FABA 15 X IF4 ﬁﬁ”*’ﬁ%ﬁ?é gore

fii B BFNRE#HTRKE M
B4 A % X HE4 S

B R| 120000 ‘E%%‘

 (FEE1:

ELak

BEER| BNERHLIREHM




X[ 3 T2 1 [ X2 Y
AR R FER ) B I 5 4
L= 1279m $=1 : 2000 L= 1327m

RYSCHIZMBELRHEIE B ¢l
RYSCHIZMBELRHEHIE  F CcHXE

2‘\\\) \\\>\\\\\\\\\\\\\\\ \\\\\\)\\ﬁ“\\\ S \\\ =

X FE3
=AIEE W=164.2m

£ E| cHefEE #EAMM®
N Rl Baizs  #
BABAER | |TBE TS
{ ! fi B FNEEHRTEKEH
‘ W( BRARAREE HMmE4 FEE(2)
N V L= : x ’ B R| 1:20003 ‘E%%‘
Nkt SN\ 8 bz
N A
BEEL| FNERPHLIAEBF




axﬂWV TR %
. NN B Xlaw B L1 | |%
RAURATR Y MEE HHERRE
U dEHEHREE
~ILR i CHEN
a2 @
® =
ﬁmﬁpﬂﬁpﬁn&mﬂpﬂpﬂ
Slw| |m| |u =¥
B H|e|me & wlm
md ol
Xl Xl
U N
ok HE
BE
® R
. ﬁH@ ﬁH@
=

164. 2m

W=

E]

X &3
=AM

8,

\

260
NS
i 7
S,
v S
// 7 ¢
2 b A 5o/
4 v
N/
pdoad/ /.
084 oo
> ARY 2
q

;;;;;

SHE
A

EA—
Tk

NN\ ¢
PN\ N \ NG



FEX (4)

5141000 P93 HABILESR L= 1279n

0

/v

AW
Q-
8 s

9

~
5
S
<
7S
|
< g 4
o~ - s
~ i —
F- B ]
v o SIS
S NS
< =
69,9 a7
0
[t — 3|
-] ; : // 3
=] S & = S \ / 5| %)
= S A N 2|
S ; : = IS ——_ 3
- 3 = o ) \ N 3
— 74 = N \ \ E 5
302 7414 N NN " Ay — ~ G N > <
Uy 5— ~/ N N YN
e 7 N R - Y
Fom = 7 N At wl<
—S = A
: - = > 0,50 o
, = G ¢
© = - N
5.6 S
76.03

4

0.232+0.

0g]
=106. 500

L 3 M6 FEX RS
1
Al B4 % REBRIRER
WEBMRE | [Fre  TURERE

B FNIRIEH & BT

BE 4t AR E X —_— FEE @)

#  R[ 11000 [mEEs]

e ER A

E-

EREL ENRPELAEHHR




FERE ()

5=11000 XE3 HAMGBER L= 1279m
v

f !
!
4 | !
U
i t_ //
! 1 Y
S ‘ N 7y
o \
\ -
N \\ \\\\\
s -
< == ==
N
S
N\ 2
G
#
A & s
\ 7 \
N B

My

‘ 7,
> o
r . S {
4 S
N oy 55285
< X 7 %2 5 = o=
N
= P
S — = R
© g 29 S
2 t P
> S %,
=
2 > » S
i
s
.. - ~ = o
N N s
- =
o = 2 d
B L
i 1 = 7
l U T "’ '
1 T T T
i t 7 3
Q
Rirs 2
5

GEok

%0

0
ey

2
A0
A\ b
lo
&

g
P
o %

206 4
6
- % 3,
-}
.
=

X2

o
. % 68N, — \
% 45 S
Cta > X
2
3
7, ' L
% Ll
I
7t -~ i
T o s -
T
70
09
7. 72
%6 68
3
2
i
I
8 7
N3
»
75
76 2 s
° .
Azo 75 % $

L 3

w6 £EF #HARE

Bl

# FBA s X
BRfit R F X

BAlE%

RIEFIR R

I$4

REBRELR (IEATK)
HETSE

bor¥a]
ERBET

B

FNIRRE T EEE

K E %

FEE©®)

# R

1100009 [mm#ES]

e ER A

E-

EREL

ENRPELAEHHR



X (6)

$=1:1000

X 3

HAMIIER L= 1279m

55.49

,\,

#56.04 \_\

prc :

77 AN, X
Y, 2% ANY
\ B

8 /55 56.9
256 y

= - 186 = \“, 6':-":"”{ =

%
2

Bl

# FBA s X
BEft RF X

& | AW 6 GE MARH
BANL% REBRRL R
TE4 %ﬁ%mgﬂﬂégé%%ﬁlﬁ)
v B BB v A AT
H & % TEE©)

& R 10000 [mEES
fHERE

I

EREL

FNRPELAEHHR




« A
o S
A

@\Q

s
o
A

o

%
K 5 N\ e
. AN S=1:1 0(%?%\%‘ \// //w;)o

X &3

(] 5 <&
X 74
& 2 -
. W 2% 5
® .. r‘\(’\/,\\
& ENe K

2 00
> 4459 [R
S 4
N "5, R % D) % |
~ <% S
=
) N X ’ gy
2 | s
B o > £ i Y
N P / 5
— 7 W »
) ) %
3 g 5 .
> : &
R $
» . a® 0 o .
79,5, . & @ |
[ s> é?& NPT Y >
N Y o ® e & y
N o A9 Z
A Ca ¢
%, o J
% SN | B
% » !
" 3 = g o 2
@
/ <ls [} M. ) S
0 o K [
L & 2, o L Q
N E A S 2, o o
© s 0 3 v, AN
. ® W, ® Sl e S Y
2 > ® | < T y
o ® wo S o P py @ 5
A ® - Qs M e S Y 5
°\ 2N o © » gy g Z
142 N ° T ] 2 >
S » ® @ =1 93911 ki 2 5
= o &
° . o 293 T =0 £ “
o e Q (o L= z 5 ~ 8
. . 4 0 2 S g
|/~ > 9.96 B0X-Wyf5omr7ey L gL 1 A Z N o TN
2 22,03 - = T e i
e 33
' = 13 h) )
6 = P AN
u Lo N D
o < = 3 d 5y
S g g e = < S = \
= E = S 7 g @ =3 = S 2 5 o
=} b = 2 = s
- T 45
7 \r S N
>
]
‘e 2,88, <25 7
> 13 A
2
= = 7
o > 73,75
» o
Q a
o
D N
» N S 4
o °
W »
» 7
e Nt /5
"~ &)
A\Y
N
2 o
& -
® Te - ¢
n¥ *y 'S - S
2 N ]
5 WY &
o> N @
* 3 -
R N : 5
N 5 4
A 2
7 @ S >
» g
s i
v,
% RS w
% 3
P L1 N
.o
o
R ™
o
®
N
)
Ny

A

o

Ao

P SHCEE (AR
Bl Neanzs R ER R
IR

1t A B 4R X el THA TR

i B SNRRETEBE
B4 AR 5 X —

) ) R RXRE B R

RERR
¢ o
% . . . . =24
3 ; . ; ; g
% % e % o % % K

EREL ENRPELAEHHR



